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Top Down APM

id A Gl

NSV ASE - Ei=Y v RGN ERBHE Paxass
o VARG ATAT ) o U RE NI RGA RE
%F‘ AR 55 A AT ) [R) 2 o MR . %ﬁﬁf\ a0 5 v (e i
% - o | (D i
oH R « ALk %
JSRFVETT 5 E B %S T = A
. o R G b TR SR IR AR B RGNS A
) 4 a5 56
RGP I 2 5 4 fooe e
&=

GOPS20l6 2Kz XK= Liguh



>

nnnlyg

EEIERIR
C mmREg || mEesme || H i ]
FIEREE — agent/ push B K AE — agentless/ pull

( MQ )

o = G
 Nesa | b3 4 7

( BRG] )
( AR )

ITARENES T
’E%’%%ﬁﬁﬁi%l HARTE S il [ wES | wEEE ﬂiﬁ%@[ RIFE ]
%= e ] 5

GOPS20l6 Xz A= Ligih



e
A% 2T

sz Cont.

- TR, ZERFTFEN

BRSPS IIEL

- 1& FrIURIRKE — agent/ agentles/
- BT EZ SRS N RIE ST

b W £
 JBEHUEAME . TFE. FEig. niE -

GOPS20l6 Xz A= Ligih



IGE sl %)

W55, IEHEERE] :

- G FPEHUEE: | REATEPMERT. RREITIES0H. B=DERFESEH
RCA

- IFSERFIEK : R AR, BPHE
- iR, THEERT)
« REZERNTG SR
« REAIAPIESEATIES0HEER

- HftFlmTHRA. 1Z4EEE]
- BED RGBS

GOPS20l6 Xz A= Ligih



SCRERER

«5,3,13, 1
15, 3, 20%

10, 3, 30%

GOPS20l6 2Kz XK= Liguh



Mo 55

GOPS20l6 2Kz XK= Liguh

PSR GIEA R -

G




I“]EI’J?Q}E t

FAREE

- BRSEE T
. }EFEE{N_L
==

IBYELS 1JI|

iR e EE R
RRZFHAPRERE
ﬁ?lﬁ?xﬂzu = '51_‘_ ?_v@ﬁ

ES0S
ARHBIRIE AR

Tl SRR
7, ETIIRRS
BAGISIRR R AR
ET Al SR
B

SEHERE

« IET\A3 9%

- IR G
* SHUEER

- BHRERER

GOPS20l6 2Kz XK= Liguh




t>

PR ASFZ5 | iRERIRIERE,

GOPS20l6 2Kz XK= Liguh



Q&RA

e Email: me@milanello1998.com

. (248: Milanello1998

* Blog: http://blog.milanello1998.com
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